Ho 4l FTHEHELFRMKFEST 4 Fv o X ABES

R = R

=
Fl‘)

S4F6 A1 1H

. FR - FHED NSO
N E O Rl ¢
. BEHNED
. R

(1) Ff0 3 FEFEREICHONT

(2) A 3FEEISIREIZ DN T

(3) AFn4FEEFEEE () 12O T

(4) HFAFENTHE () 2250 T

(5) EUEEIZHONT

(6) Zfh CGREE - & RACHATE)



SFn 3EE

VT A4 XX AR ESTFEREE

T AR
VT A XX N ARER

H Ik N ="
BB 40 3H (h)| FWMELEMKY - FEHEEHRAATR (BREF v o /3R)
“ESASK (BESEEF)
4H 28H (K| ¥7TaFrr iz ZRIHE GEFIK14)
6H12H (1) | FHEST 4 Fr o "\ A%ES KESKOESRS

EHE1 0OFRF3 055~

O 2 FEFRFEREIZONT
QBTN 2 I SRFAIZ DN T

@ Fn 3ELEFHEFE () 122N T
@B 3EEI L THE () I220T
OEBUERIZONT

®Z D1t

7TH 5H (H) | R#E WEE) MEER%Ks (1EE)

9H 6H (H) | Ri#EE WEE) WEBEHRKs (2EE)

9H11H (:t) A0 I SN Z e 27 ¢ o) (EAHFF%\‘,A‘»‘ /°‘Z)
Corilam F 0 1 L ZEGAER B 1L D 7= T 1k)

11H 7H (B)| FEELMKFETT 4 F v 2/ 8ARFEE (THNE)

[BfRE DA Rl - (22 - RIARA - BOE - ABURSA EE]
TR D72 6O DRI BT

11A13H (L) 148 (H)

FHCEIFIRT:  FTERE AR TFRR R v S ARFE (BES)

12H 80 (OK)| bkl A~vRar¥—h (VT 4F ¥ /3R)
12A148 (K| HEERZ VA~ Aard—b (HfEHK)

G4 3H16H (K)

FAE AR - FAE HPARFZEOZE A (R F v > R)
REFLOOES [RRKRT VT T o7 (FE - R i) ]




SHIBEESTAFVYVNRAREBESNIRESE

FHRE ;KT
LT F Y NARER

1. IRADED (Bifi: M)

1} B FH RE ER i *
1. &8 2,840,000 2,830,000 —10,000 |@10000 x 2834
2. RS 304,316 304,316 0
3. HIA 20,000 5,007 -14,993 |C#ig. EEFIA
4 W% 200,000 200,000 0 |ZERTHESTRLS

& i 3,364,316 3,339,323 -24,993
2. XHOH

5 B FHE RE =R i £
1. % & & 55,000 20,000 -35,000

. BEE 10,000 0 -10,000 |&HRAF
2. BHE 30,000 5,000 -25,000 [BESE SR, EHRERNEER
3. HE 15,000 15,000 0 i, Ef
I.% % & & 2,800,000 2,080,128 -719,872
1. H—2 L EBHEE 900,000 401,817 —-498,183 [#-onEBBHE
2. KERETEHNE 600,000 475,706 —124,294 |KEEEHHE
3. TRESEWMME 500,000 542,407 42,407 |&ETHEM
4, FERESHME 300,000 191,860 ~108,140 |F£RREFH. TRETHER
5. BHESE (REPER) 50,000 0 —50,000 [@REEDTHOTIME
6. HE 450,000 468,338 18,338 |—FHa#yaATh, 7U-F YL HREY. Xmas)-
m. FiHE 309,316 804,748 495,432 |A5-EBN AR, 71577 b
Bt 3,164,316 2,904,876 -259,440

. s
1. ERFBEEULE 200,000 200,000 0

& & 3,364,316 3,104,876 ~258,440

3. WXREOH IRAH 3330323/ — IHHE 3104876 = REHEMME 234.447F

MEOEUBEVELET, oo
2 # MHBE @

% R FHERNKT

IRFERERITONT, BREHESLUHIEETBALGR. FTREECHI_LERDET.
A3u 4 £4RI08

B & AKE aem




STAEE

T A XX URAREREEEF

TR E AR

VT A XX N ARER

H i

N

=

2R (BRESBEHK)

e AR - TR EI R AT (R F v 28 R)
RN

AfEARTHE (JLFnk 1,

2 4)

~23H A& D)IFAT V=1 H
FEE T 4 F ¥ R ARES HESROEMRS
6H 11H () O SRM3EEFEEREIZONT
@ Sfn 3FENIRFIZ DN T
EHRALS 1 03 04~ @ Sfn 4 F G () 12OV T
@ SRMAEEIETE(Z) IOV T
® HAUEIZOWT
® ot
7H 48 (H) 2~ AFERER (HEE) ERIZERRKS (1HH)
9 H 5H (H) 1 ~4FALGES (RWER) MyEERYS (2R E)
9H 10H (1) L7 )Vo—2 a7 2 AT 4290 (ERF v 8R)
11H 6 H (H) FEELFIRFE ST 0 X v N ARFEL (THNE)

R D120 ORtCHERIE (PiE)

11A12H (£) 13H

(H)

FHELFNRE: - FHEEHRARIRF v N2 REE

DY/inv
*ZEI%B

)

124 5H (H) JVARAR =y 2022 (T 4%y /8%)
~11H (H)
12H 78 (0K Fbhnr VAT Ay —hk (VT 4 F ¥ /8R)
12H 13H (k) EESE 7 ) A~ AaryY— b (MEER)
Af54 3H 17H (&) FHE LR - FEE R AR 5 (R v /3 R)
FEFTSME S CRREATAT T 0F)




SHAEE ST4XYVNRBESRZTES

FHELXMKFE
UTAXNYUONREES

1. IRADER (B M)

185 = MEETH | iTEERE | A5EFE ] z
1. 88 2,840,000 [ 2,830,000 | 3,000,000 |10000x (3004)
2. BIEERES 304,316 304,316 234,447
3. #URA 20,000 5,007 5,000 fEs A, cHms
4. EIE 200,000 200,000 200,000 |xaHeamEI £

& ] 3,364,316 | 3,339,323 | 3,439,447
2. XHOE

18 = MEETH | iTEERE | A5EFE ] z
1.8 % & & 55,000 20,000 55,000
1. 25 10,000 0 10,000 [EE2#%
2 EHE 30,000 5,000 30,000 BEE& B BBIK. EHREENBER
3. ME 15,000 15,000 15,000 |[=#%%
I.% £ & &t 2,800,000 [ 2,080,128 | 2,930,000
1. EERHE 900,000 401,817 800,000 |-/ EBE#HENS
2. RESEHBE 600,000 475,706 600,000 |rz5Ea#HE)
3. XREWYE 500,000 542,407 700,000 |&ETEMB (L9717 1)
4. FERELHIE 300,000 191,860 300,000 [ RELHE. FEETHER
5. BHERE (XB-$4£M) 50,000 0 50,000 JiRiE D= DRBHAE (11/6FE)
6. H& 450,000 468,338 480,000 |—FEMIATA, EMIBRHE
II. FiEE 309,316 804,748 254,447 |aoF oL RE SR K%

& 3,164,316 | 2,904,876 | 3,239,447

NVEiIE 200,000 200,000 200,000 |ZFHHERHEIS

& i 3,364,316 | 3,104,876 | 3,439,447




[&Fn 4 F£E)

FHELERIKZES T 4 F ¥ VIR BESEKE

fe T K % e i
= K v B E (34 thiir)
RIESSS JI W £ 98 ST
(24F HEX)
%= B e A s (44 $h3)
) fn KRBT (34F FBR)
) K EH # + (24 ZHW)
) (O T} (242 HIT)
) e PRORR ML (25 KIIE)
) Ho = (145 fKER)
) T NI (14£ Je3E)
) & £ M (145 3£%8)
= 7 | % T (44 HEAT)
) R FHR
B JOKH Fpr (44F EAiR)
1B A /N (26 i)
L b (A KH)
) R & HhEFET (a3 i)






